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1. Judge if each of the following statement is correct. If not, corzect it.
(No explanation No credit) '
(1{10.5,16.9] is the 95% confidence interval for mean & Then 4 has
95% chance to be in [101.5,16.5]. ( 8%
(i)To use Z-statistic to test H,: T=0 vs X0, we must compare 7, with
Zq from the normal table . If 1 Z1) 1 Z, |, we reject H,, where
P} Zo)=aand @ is a distribution function of N(Q , 1). (8%)
(11)0nly Type [ and Type II errors are neaded to determine the sample
size for checking if the mean is shifted. (8%

2. X~N@,9 and Y~N{GC, i6) find Pr (X+Y =205=7 (16%)

3. Explain the sufficiency in plain language.(No ecredit if your
explanation is over 5 fines)  (12%)

4. Give three methods for estimating the dispersion in a population and
explain their relationships in a normal distrbution.  (20%)

3. X~Poisson( A= 0.5 ) and Y ~Poeisson ( X =1.5) find P({+Y=3)=7
(16%)

6. Explain why we need more samples to estimate the mean. (No credit
if vour expianation is over 5 lines) (129

TABLE A.1 Cumuiative Probabilities of the Standard Mormai Distribution

Eniry is area A under the standare normal curve from —= 1o 7{4)
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